Intensive Problem Solving Packet


Sam’s Walk Problem
[image: image1.wmf]
Sam took a long walk on his treadmill. He walked half of the total distance in the morning. After lunch, he walked 1/2 of the remaining distance. In late afternoon he walked half the distance that was left. After dinner he walked the last 3 miles. How far did Sam walk altogether?

[image: image2.wmf]Pier Problem

Eric and Brianna go fishing off the pier. Together they catch 17 small fish. Brianna catches 5 more than Eric. How many do they each catch? 

Fox and Rabbit Problem
[image: image3.wmf]
[image: image4.wmf]A fox chasing a rabbit, which has a start of 150 feet, jumps 9 feet every time the rabbit jumps 7 feet. In how many jumps does the fox overtake the rabbit?

What’s the Sum Problem
What is the sum of all the numbers in the table? Try to do it without adding each of the numbers one by one.
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Cider Problem
A bottle and cider together cost 25¢. The cider alone costs 15¢ more than what the bottle costs. How much does the bottle alone cost?

Pumpkin Patch Problem

[image: image8.wmf]The perimeter of a pumpkin patch is 120 feet. If the length is 8 feet more than the width, what are the dimensions of the pumpkin patch? 

Handshake Problem
[image: image9.png]



Fifteen people are at a party. If each person shakes hands with everyone else (JUST ONCE), how many handshakes are there in all?

Directionally Challenged Problem
[image: image10.wmf][image: image11.wmf]Mr. Roberts faced west. He walked ten steps forward. Then, without turning, he took five sideways steps to his right. Then, he took seven steps backward. Then, he turned left and walked six steps forward. Then, he turned right and took three steps backward. Which direction is Mr. Roberts facing, and how far is he from where he started? (Use graph paper to help organize your thinking.)




Honey and Kerosene Problem
[image: image12.jpg]


A bucket of honey weighs 50 pounds. The same bucket with kerosene in it weighs 35 pounds. If honey is twice as heavy as kerosene, how much does the empty bucket weigh? 
Cows and Chickens Problem
[image: image13.wmf][image: image14.wmf]A farmer was asked how many cows and chickens she has. The farmer replied, “Between the cows and the chickens, there are 17 heads and 48 feet. How many cows does she have? How many chickens does she have? (NOTE: Chickens have 2 feet and cows have 4 feet.)

Thelma and Louise
On a 750 mile road trip Thelma drove 102 miles more than Louise. How far did each person drive?

Horseshoe Problem

Eight people sign up for a horseshoe tournament. Each one must play every other contestant at least once. What is the least number of games that could be played? 
Dots Problem
Draw five more figures that could reasonably follow in the sequence below. Describe your pattern.



Without drawing any more figures, determine how figure 31 should be drawn.

Ghouls Problem

8 ghouls each had 8 hands. Each hand had 8 warts and each wart had 8 hairs. How many hairs were there? Show this in exponential form and solve. 

Sum Problem

What is the sum of all the digits in the sequence 1, 2, 3, 4, 5, 6, 7,...99, 100?
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